8 7 | 6 5 4 3 2 | 1
REVISIONS
[> NOTES ® ] DATE APPROVAL |
1. STANDARD GLAZING OPTION — 125 v aseL e
MINIMUM DSB GLAZING MEETS UNIFORM STATIC 13 GA HORIZ ANGLE
DESIGN PRESSURES SHOWN ON THIS DRAWING. \
GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
6.70° AND A MAXIMUM LENGTH OF 24.00". N
GLAZING IS NOT IMPACT RESISTANT AND DOES
NOT MEET THE REQUIREMENTS FOR
WND—BORNE DEBRIS REGIONS. 15 oA MN HoRZ —_|
2. ALUMINUM FULL VIEW OPTION — ALUMINUM TRACK N € °|°°R
FULL VIEW SECTION MAY REPLACE ANY
SECTION EXCEPT TOP AND BOTTOM PANELS. 13 GA CONTINUOUS —_—
ALUMINUM FULL VIEW SECTION SHALL HAVE WALL ANGLE R -
RALLS AND STILES OF EXTRUDED ALUMINUM H L e |
ALLOY 6063—T6 WITH A 2-1/4" INTEGRAL FIN H < !
AND .125" MINIMUM DSB GLAZING INSTALLED 15 GA MIN VERT —~_ | : !
WITH ALUMINUM RETAINERS IN ORDER TO TRACK N ﬂ / Jy
SHOWN. ON-THIS DRAWNG. ARV PANEL SIZE IS Nl '
AWING. AFV PAI . . : >
wN O s /16°1-5/8" —| HEET 3 : .
51.5°x21.9" (MAX). GLAZING IS NOT IMPACT H H <
RESISTANT AND DOES NOT MEET THE T ae H 20 GA CENTER STLE—[E2)
REQUIREMENTS FOR WIND—BORNE DEBRIS WODD SUBSTRATE. SEE :
REGIONS. SHEET 3 FOR MOUNTING a 3
3. MINIMUM OF 1 OVERLAP ON BOTH JAMBS TO OTHER SUBSTRATES. L
REQUIRED TO MEET NEGATIVE DESIGN
PRESSURES. N
4. SUDE LOCK OR OPERATOR REQUIRED. 1) 1/4-20x8/16"— { ;
5. SECTION STEEL TO HAVE THE FOLLOWING %AC% i I . = D'
MINIMUM THICKNESS: 1/4-20 HEX NUTS AT ;
421, 423 — 20 GA LOCATION
427, 429 — 24 GA
434, 436 - 25 GA (SEE DETAL A SHEET 3) /] o 20 GA END STLE 'an I
6. THE DESIGN OF THE SUPPORTING oA TRACK SLPS i
STRUCTURAL ELEMENTS SHALL BE THE (WELDED, BOLTED. OR /
RESPONSIBILITY OF THE PROFESSIONAL OF ANGLE) SEE NOTE 7 AND >
RECORD FOR THE BUILDING OR STRUCTURE DETAIL B SHEET 3 1 /
AND IN ACCORDANCE WITH CURRENT BUILDING H o 1
CODES FOR THE LOADS LISTED ON THIS SUDE LOCK ONE END— ||| 3
DRAWING. (NOT REQUIRED WITH
OPERATOR — SEE NOTE 4) b1
7. TRACK CLIPS SHALL BE LOCATED WITH H |
CENTERLINE OF BOTTOM CLIP SPACED 10" H 1 I
MAX FROM BOTTOM OF TRACK AND REMAINING H
TRACK CLIPS SPACED AT 24° O.C. MAX. i
SPACING BETWEEN TOP TRACK GLIP AND 0
SPLICE PLATE SHALL BE 30° O.C. MAX. .
8. WHEN MOUNTING TO WOOD, DOOR JAMB TO 2 H a
BE MINIMUM 2x6 STRUCTURAL GRADE LUMBER. 1 <
REFER TO JAMB CONNECTION SUPPLEMENT H <
FOR ATTACHMENT TO SUPPORTING H T
STRUCTURE. H
NOTE:  (4) SECTION SOLID DOOR . |
SHOWN. SEE SHEET 2 FOR U—BAR H p
LOCATIONS ON DODRS WITH OTHER : 4 ’
SECTION QUANTITIES AND SEE NOTES 1 3 H
& 2 THIS SHEET FOR GLAZING » : H
OPTIONS. H 3
) i
SUPERIMPOSED DESIGN PRESSURE £ L
LOADS ON SUPPORTING STRUCTURE { P
UAX | DOOR | MAX UNIFORM LOAD EACH JAMB \
o | HeieHT (PLF) ) ==
9'—4" [ AL +79.1/-90.2 E
HEET
Digitally signed
. by John Christian
@an Voelkel
| g2 0003 THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.
’ \WINGS AND ALL DTHER INFORMATION CONTAINED HEREIN ARE THE ARY PROPERTY DF OVERHEAD DOOR CORPORATION AND ITS AFFILIATED COMPANIES. THIS DRAVING
A OF TS TRAVING OR INEDRAATION 1% INTENDED T OERATE A5 A LICENE DR ALTHIRIZATION 10 USE TF FOR ANY PURPDSE. UITHJT THE SPECIFIC URITTEN CONSENT LF OVERAEAD DOOR, CORPLRATION
STATIC PRESSURE RATINGS APPROVED SIZES , J C VOELKEL e TOLOUWNGES UMLESS DTHERVISE SPEGIFED GUSE T DATE TRAVING TILD.
MAX WIDTH: 9'-4" , . - N/A o 28 8/12/2020 "’"‘E}’Ig'}qg%e%um
DESIGN PRESSURE(PSF): +17.0/—19.4 MAX FEIGHT 27— T """-"'"'""""""""-""/ . : 2 T CI'.:\RK riya ekl J
: - [} ] OVER 500 +008/-003 XX s | LNITIE J_QIaN 1vaizal
IMPACT/CYCLIC RATED: NO mAx secTon HeiehT: 241 , 9% 133174 & ,’ T O Y o | MEASKRE v o B2t D- 411778
(] % . ¢ Q. é/ & L Eroe | wom mees t5 | EA TCLARK | 12e/el oo A sl =3
. o —
) 7 [ QW&o /cENSE P | 4 3 2 1
Cogrmnea s
-


chris
Texas


7 I

1/4-20x9/16" TRACK BOLT
AND 1/4-20 HEX NUT
THROUGH THE SLOT IN THE
TRACK AND TRACK CLIP

12 GA COMMERCIAL TOP FRAME
BRACKET WITH 13 GA ROLLER e
CARRIER ATTACHED WITH (4)
1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS

2" STEEL ROLLER WITH r
5-1/8" STEM AND 7/18" 7P
PUSHNUT AT EACH ROLLER /
LOCATION. 1/4" MAX i
BETWEEN PUSHNUT AND I
BRACKET OR HINGE ;

14 GA WIDE_BODY END
HINGE TO ATTACH SECTIONS
ONE AND TWO.

13 GA WIDE_BODY END
HINGE TO ATTACH
REMAINING SECTIONS. FOR
ALL, ATTACH WITH (4)
1/4—14x7/8" SELF DRILLING .
CRIMPTITE’ SCREWS 7

14 GA WIDE BODY
INTERMEDIATE HINGE

ATTACHED WITH (4) /
1/4-14x7 /8" SELF ya
DRILLING CRIMPTITE -
SCREWS
STANDARD SECTION
DETAL D

12 GA BOTTOM BRACKET
ATTACHED WITH (3)
1/4—14x7/8" SELF DRILLING
CRIMPTITE' SCREWS

STATIC PRESSURE RATINGS APPROVED SIZES

MAX WIDTH: 9'-4"

DESIGN PRESSURE(PSF): +17.0/-19.4
S RESSURE(PSF): +17.0/~19 MAX HEIGHT: 24'—1"

MAX SECTION HEIGHT: 241 '

IMPACT/CYCLIC RATED: NO

0
8 7 | |‘o

“\fflowAL e

133174 ‘e

-(/CE

A"

s &S

(2) 1/4 x 1/2°
CARRIAGE BOLTS AND
1/4" FLANGE NUTS

|~ /4147 /8 SELF DRILING
- CRIMPTITE SCREWS

HALF HINGE

ATTACH U-BARS WITH
(2) 1/4-14x7/8" SELF
DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.

TI'E]RAVWANDALL
AND INFDRMATIDI N.mvm.:mmpm,mvum!mmmmwnm
ANY OF THIS DRAVING DR INFORMATION IS INTENDED

REF_DWG

(12) SECTION DOORS Wi
(8) 3° 20

(11) SECTION DOORS WITH
(7) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(10) SECTION DOORS WITH
(8) 3" 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

(9) SECTION DOORS WITH
(6) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(8) SECTION DOORS WITH
(5) 3° 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

(7) SECTION DOORS WITH
(4) 3° 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

(8) SECTION DOORS WITH
(4) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(5) SECTION DOORS WITH
(3) 3° 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(4) SECTION DOORS WITH
(2) 3° 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

OTHER INFORMATION CONT/ AND PROPRIETARY PROPERTY.
ANYDNE VITHOUT THE PRIDR VRITTEN

DISCLOSED T CONSENT
TD[PERATEASALMISE[RMII‘HIR]ZATII]NTDLISEHFRMVHIPBIV‘IHIII‘I’THESPEW

GA 80 KSI U-BARS
LOCATED AS SHOWN

TH

rwmtmmunmmumrrsmmm
OF MAT.IDN. mnm.usunnr
OF OVERHEAD DODR

IC VRITTEN CONSENT CORPORATION.
o e Toe Ok S I R
Ty Ly " Clark | 871272020 423/427/429/434/436,
o 70/-19.4 PSF, 9'-4* MAX
maTERIAL e 1/21/21
/A J “I"‘".‘ B D- 411778
T CLARK |1722/2! o N/A__ [sswe o 3



chris
Texas


MIN 3/16" THICK
STEEL FOR MOUNTING

MOUNTING WALL ANGLE:

EBOXX MIN.

TRACK CLIP

1/4-20x9/16"
TRACK BOLT AND
1/4-20 HEX NUT-

: WALL ANGLE MAY BE ATTACHED TO
SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
SELF DRILLNG SCREW WITH 1" 0.D. WASHER AT
EACH HOLE OR PAIR OF HOLE LOCATIONS IN

RUBBER GASKET
1/8" ANNEALED DSB GLASS (MIN)

/_ DLO= 5"X20”

TRACK LIEU OF WELDING
MOUNTING TO STEEL DETAIL
RUBBER FRAME GASKET
(NON—INSULATED DOORS)
FOAM TAPE
BUTYL TAPE 1/4° SNAPBEAD

LOWER INT. RAIL

JOINT SEAL
BUTYL TAPE
ALUMINUM FULL VIEV FRAME
VIEW
CONTINUOUS
WALL ANGLE

(2) 1/4" X 7/16]
SEMI TUBULAR
RIVITS OR (2) |
1/4"-20 TRACK \
BOLTS WITH NUTS®,
OR (2) .28" DIA

RESISTANCE SPOT
WELDS

STATIC PRESSURE RATINGS

APPROVED SIZES

PLASTIC FRAME

1/8" ANNEALED DSB GLASS (MIN)
DLO= 5 3/4°X22 7/8"

(10) #8X2" SHEETMETAL SCREW
(1) PER VERTICAL FRAME LEG

(1) PER HORIZONTAL FRAME LEG

THE DRAVINGS AND ALL OTHER INFDRMA! CONT/

AND
ANY DF THIS DRAVING DR

DESIGN PRESSURE(PSF): +17.0/-19.4

MAX WIDTH: 9'-4"

# J.C.VOELKEL 4
/

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: NO

.-.--..-Qln.'.n.....:o..l

MAX SECTION HEIGHT: 241 " ‘0.'-

133174 ;&4

., m
7 0000 e

REF_DWG

NN 3/16° TH
STEEL
MOUNTING WALL ANGLE

TRACK CUP:

5/18%x 1-8, LAG
e Yo
LOCATION FOR WOOD
SUBSTRATE.

MOUNTING WALL AN
TRACK CLP

Qusee
1/4-20 HEX NUT-
TRACK

12GA SCAB BRACKETS (OPTIONAL)
. @ 12" SPACING SECURED TO WALL
+ |/7 ANGLE WITH 1/4—20 TRACK BOLT
AND 1/4-20 FLANGE NUT

3/8" SIMPSON TITEN HD,
2-3/4" MIN_ENBED INTO
MIN 2000 PSI_CONCRETE
AT EACH HOLE OR PAIR
OF HOLE LOCATION

IcK
FOR MOUNTING:

-OPTIONAL: WALL ANGLE MAY BE ATTACHED TO

W 6" SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
BOLT AND SELF DRILLING SCREW WTH 1° 0.D. WASHER AT
1/4-20 HEX NV EACH HOLE OR PAIR OF HOLE LOCATIONS IN
TRACK LEU OF WELDING

MOUNTWG TO STEEL DETAIL

\TIIN CONTAINED HEREIN ARE THE AND PROPRIETARY PRIPERTY OF OVERHEAD DODR CORPORATION AND ITS AFFILIATED COMPANIES. THIS DRAWING
INFORMATION, IN VHOLE OR IN PART, MAY NOT BE COPIED IN ANY MANNER OR TO ANYONE WITHOUT THE PRIDR VRITTEN CONSENT OF OVERHEAD DOOR CORPORATION NO DISCLOSURE OF
INFIRMATION IS INTENDED T DPERATE AS A LICENSE OR AUTHORIZATION TO USE IT_FOR ANY PURPOSE VITHOUT THE SPECIFIC WRITTEN CONSENT OF OVERHEAD DOOR CORPORATION.
€0 DATE DRAVING TITLD
ﬁ INDLOAD,OPTION CODE 2062
+ T CLARK 8/12/2020 421/423/427/429/434/436,
iy = 7.0/-194 PSF, 9'-4* MAX
1/21/21
t —J QN B D- 411778
£ T CLARK 1/22/21 fowo  N/A |s=r3 o 3



chris
Texas


		2021-05-03T10:42:27-0500
	John Christian Voelkel




